Chapter 2 Mid-Chapter Review
AP Calculus
1.  Find an equation of the parabola 
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that passes through 
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2.  Use the graph of  f  to answer each question.

A.  Between which two consecutive points is the average rate of 


     change of the function greatest?


B.  Is the average rate of change of the function between A and B 


      greater than or less than the instantaneous rate of change at B?


C.  A which point on the graph are 
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both positive?

3.  Write an equation of the tangent line to the graph of 
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4.  Write an equation of the tangent line to the graph of 
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5.  Given the graph of f, sketch the graph of 
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6.  Given the graph of f, sketch the graph of 
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7.  If a billiard ball is dropped from a height of 100 feet, its height s at time t is given by the position function 
[image: image12.wmf]2

16100

st

=-+

where s is measured in feet and t is measure in seconds.  Find the average velocity over each of the following time intervals.  (a) 
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8.  At time t = 0, a diver jumps from a platform diving board that is 32 feet above the water.  The position of the diver is given by 
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(a)  When does the diver hit the water?


(b)  What is the diver’s velocity at impact?

9.  Find the first and second derivatives of each function.

A.  
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B.  
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10.  Find the derivative of each function.


A.  
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B.  
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C.  
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11.  Suppose that u and v are functions of x that are differentiable at x = 4, and that 
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.  Find the value of 
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12.  What is 
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?  This means find the slope of the tangent line of 
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